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5°5/8 | 0.002 2| 0.004] 0.004] 0.004] 0.004] o0.004] f,
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5°5/8 | 0.002 2| 0.004] 0.004] 0.004] 0.004] 0.004] f,
Fd | 1.000 1] 1.000] 1.000] 1.000] 1.000] 1.000] f,
05 | 0.145 2| 0.290] 0.290] 0.290] 0.290] 0.290 f,
1B5KERET 10.819( 11.227| 11.635| 12.043| 12.451
BRRE| (m/s) 2.692| 2.954| 3.179| 3.375| 3.549
g [(mYs) 0.048] 0.052] 0.056] 0.060] 0.063
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MAICKDEK fe (FRAODIRICLDRIRD, TAX/N\WI\CLD>TER
SNTZEMEETRDER(CIRS.

(1) (2) (3)
I NN U
| fe—o0s " o025 (fe=o0.1 Crim)
~0.2 (EHE)
(4) (5) (6)
/% ‘ fe =0.5+ 0.3cos 0
fe = 0.01 ~0.05 fe = 1.0

+ 0.2cos2 0

(FErk 6 FEM [KEBAKE] £D)

X(6)DIBED:TE 8= 90°
f. = 0.5+0.3cosB+0.2c0s’0
= 0.500

2. BARDICLBEKX f,

___________________________

AN DK fy, (F. DA X)W \DEBRKICKD. LUITDRRICRD

f, = 0.946sin?(68/2) + 2.05 - sin*(8/2)

D fba)g-l-% e = 50
f, = 0.946sin?(8/2) + 2.05 - sin*(8/2)
= 0.002
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3. MHEICKBEX f

TMHIRRARE f, (3K 1.0 THD.

f, = 1.000
4. #ICKDEX f,
TEXE pellncos
2A ORI 21> 0R| U D M| IS5y TR AR |1wo5108
A4 : o(mm (BER) | EER) | cyuzon
50 1.39 1.37 8.12 0.175
65 1.37 1.35 7.86 0.172
80 1.35 1.33 7.65 0.170
100 1.32 1.30 7.32 0.164
125 1.29 1.28 6.98 0.155
150 1.27 1.25 6.63 0.145
200 1.21 1.20 5.95 0.103
250 1.16 1.15 5.27 0.047
300 1.11 1.10 4.58 0.000 1.00
350 1.05 1.05 3.90 0.75
400 1.00 1.00 0.60
450 0.99 0.95 1.05 0.54
500 0.98 0.90 1.02 0.50
600 0.96 0.80 0.99 0.44
700 0.94 0.70 0.96 0.39
800 0.92 0.60 0.92 0.36
900 0.90 0.50 0.89 0.33
1,000 0.88 0.40 0.85 0.30
1,100 0.78 0.26
1,200 0.73 0.24
1,350 0.68 0.22
1,500 0.62 0.20
1,650 0.57 0.20
1,800 0.50 0.20
2,000 0.50
BAZ1800%x 260081 &

THIERREBRETERBRENRVER - f#65
et RT3
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